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SPPED TIME DISTANCE WORD PROBLEMS

2008A 11. While Steve and LeRoy are fishing 1 mile from shore, their boat springs a leak,

and water comes in at a constant rate of 10 gallons per minute. The boat will
sink if it takes in more than 30 gallons of water. Steve starts rowing toward the
shore at a constant rate of 4 miles per hour while LeRoy bails water out of the
boat. What is the slowest rate, in gallons per minute, at which LeRoy can bail
if they are to reach the shore without sinking?

(A)2 (B)4 (C)6 (D)8 (E)10
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Mr. Earl E. Bird leaves his house for work at exactly 8:00 A.M. every morning.
When he averages 40 miles per hour, he arrives at his workplace three minutes
late. When he averages 60 miles per hour, he arrives three minutes early. At
what average speed, in miles per hour, should Mr. Bird drive to arrive at his

workplace precisely on time?

(A)45 (B)48 (C)50 (D)55 (E) 58

Keiko walks once around a track at exactly the same constant speed every day.
The sides of the track are straight, and the ends are semicircles. The track has
width 6 meters, and it takes her 36 seconds longer to walk around the outside
edge of the track than around the inside edge. What is Keiko’s speed in meters
per second?
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Postman Pete has a pedometer to count his steps. The pedometer records up to
99999 steps, then flips over to 00000 on the next step. Pete plans to determine
his mileage for a year. On January 1 Pete sets the pedometer to 00000. During
the year, the pedometer flips from 99999 to 00000 forty-four times. On December
31 the pedometer reads 50000. Pete takes 1800 steps per mile. Which of the
following is closest to the number of miles Pete walked during the year?

(A) 2500  (B) 3000 (C) 3500 (D) 4000  (E) 4500
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2012B

13. It takes Clea 60 seconds to walk down an escalator when it is not operating, and
only 24 seconds to walk down the escalator when it is operating. How many

seconds does it take Clea to ride down the operating escalator when she just
stands on it?

(A)36 (B)40 (C)42 (D)48 (E) 52

2008A 13. Doug can paint a room in 5 hours. Dave can paint the same room in 7 hours.

2010A

Doug and Dave paint the room together and take a one-hour break for lunch.
Let ¢ be the total time, in hours, required for them to complete the job working
together, including lunch. Which of the following equations is satisfied by ¢ ?

(A) (é+;)(t+1)=1 (B) (é+%)t+1:1 (©) (%+;)t:1

(D) (%+%) t-1)=1 (B)G+7)i=1

13. Angelina drove at an average rate of 80 kph and then stopped 20 minutes for

gas. After the stop, she drove at an average rate of 100 kph. Altogether she
drove 250 km in a total trip time of 3 hours including the stop. Which equation
could be used to solve for the time ¢ in hours that she drove before her stop?

(A) 80t +100(8/3 —t) =250  (B) 80t =250  (C) 100t = 250
(D) 90t =250  (E) 80(8/3 — t) + 100t = 250
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2006A 5.

2008A 15.

Odell and Kershaw run for 30 minutes on a circular track. Odell runs clockwise
at 250 m/min and uses the inner lane with a radius of 50 meters. Kershaw
runs counterclockwise at 300 m/min and uses the outer lane with a radius of
60 meters, starting on the same radial line as Odell. How many times after the

start do they pass each other?

(A)29 (B)42 (C)45 (D)47 (E)50

Yesterday Han drove 1 hour longer than Ian at an average speed 5 miles per
hour faster than lan. Jan drove 2 hours longer than Ian at an average speed 10
miles per hour faster than lan. Han drove 70 miles more than lan. How many
more miles did Jan drive than Ian?

(A)120 (B)130 (C)140 (D) 150 (E) 160

2011A 45, Roy bought a new battery-gasoline hybrid car. On a trip the car ran exclusively

on its battery for the first 40 miles, then ran exclusively on gasoline for the rest
of the trip, using gasoline at a rate of 0.02 gallons per mile. On the whole trip
he averaged 55 miles per gallon. How long was the trip in miles?

(A) 140  (B)240 (C)440 (D) 640 (E) 840
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2014A 15, David drives from his home to the airport to catch a flight. He drives 35 miles
in the first hour, but realizes that he will be 1 hour late if he continues at this
speed. He increases his speed by 15 miles per hour for the rest of the way to
the airport and arrives 30 minutes early. How many miles is the airport from
his home?

(A) 140 (B)175 (C)210 (D)245 (E) 280



